ASS	IGNMENT						
From: Date:	Veh No: SCK6911M. Yr Regn: 2018, Marc						
Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /						
OD / TP/WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or						
To Inspect Vehicle No:	Make: Toyok Harrier c.c 1998						
at Workshop m/s	Colour Silves A/C: Insured / Std / NI / NA						
of	Sp.Reading 10263 T/Radio: Insured / Std / NI / NA						
Insured	Eng/No:						
Policy No.	C/No: JTFZB3GH10J00/632						
Claims No.	Gen. Cond: Good/ Fair / Poor / Burnt						
Sum Insured: Excess: 600	Steering: (norder / Jammed / Leaked / Burnt or						
(Client's Record)	Brake: inorder / Jammed / Leaked / Burnt or						
Make of Veh:	Modi: Nil / S/Rim / STD A/Rim or						
	Tyre Size: F: 235/55 R/8						
(Policy Condition)	R: 33/55 R18						
Remark The veh had commenced its N/S O/S	BS / DUN / EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /						
repair at the time of inspection.	TOYO (YOKO) or						
Bal. or Market Value: 110k	<u>Front</u> Rear						
DAC Accident Rport: Consistent?: Yes or No	R/Bal. 06 mm R/Bal. 06 mm						
GIA / PR Seen: Consistent?: Yes or No	L/Bal. 06 mm L/Bal. 06 mr						
Est. Repairs: 5 days Res.: Yes or No	D.O.A. D.O.I. 23/08/22						
_um Sum: % 3 Val.: Yes or No	Survey held at RT Molorweskz						
CA / REV / REP. / 24 HRS	Des. of Damages : Frt / Real / O/S / N/S / U/C / Rooftop or						
Vehicle: IN / OUT Date: Person Contacted:							
	The U/C / Chassis frame / Body Structure affected due to collision						
Date / Time Action / Instruction DD Allicaz :							
Adrian confirmed lump s	sum: \$6.100 and 5 davs						
(red. \$23436.28.	The state of the s						
mv: lok							
PV: 47.11C	Partition (1977)						
Nett: 62.9K	Bosses lens (
ate/Time, File Pass to? : Preli. Report	Days Of Repair: 5						
18/04/23 : Final Report	Resurvey No. of Trip: 1 Survey Fee:						
Date/Time, File Return to?	Transportation:						
Add Fed	3: Site Insp (\$)_8+Rs_si						

SC1N228G000C / City Auto Pte Ltd ENTRY DATE & TIME: 16/08/2022 17:12 (SGT) SUBMITTED BY: Jason Quak VERSION: 1 (16/08/2022 17:12 (SGT))

C SINGAPORE ACCIDENT STATEMENT

IMPORTANT NOTICE

Please report <u>correctly</u> the details of the accident to speed up the claims process.
 This Form must be <u>completed by the Policyholder and/or the Actual Driver</u>

3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for Investigation.

6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

ACCIDENT STATEMENT

Date of Submission 16/08/2022 17:12 (SGT) Reported by Driver Date of Accident 16/08/2022 11:00 (SGT) **Exact Location of Accident** Singapore Additional Location Information **UBI AVE 3 CAR PARK** Country/State of Loss

Singapore

Toyota

DETAILS OF OWN VEHICLE

Vehicle Registration Number SCK6911M

INSURED/POLICYHOLDER

Is company? Name Of Registered Owner CHUA KOON CHUA NRIC No S1426464G **Email Address** TNGSANDRA@GMAIL.COM Mobile Phone No (Phone) +65-97526911

Alternative Phone No

VEHICLE PARTICULARS

Manufacturer

Model Harrier Variant Exact purpose for which vehicle was being used at time of accident Are you claiming under your own insurance policy for repair to Yes your vehicle? Vehicle Category Private car Transmission Auto CC 2000

INSURANCE COMPANY

cident report SCTN228G0000

Name of Insurance Company Allianz Insurance Singapore Pte. Ltd. SP2001218400-001 Policy Number / Cover Note Number

DRIVER

TNG CHIA HOON Name of Driver NRIC No S1537903J Date Of Birth 15/02/1962

-97526911 A@GMAIL.COM D#09-17
-97526911 A@GMAIL.COM
A@GMAIL.COM
A@GMAIL.COM
J #09-17
Property
roporty

S Act the knepton SC 19222S000C

SKETCH PLAN

IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Form must be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or withholding of material facts may allow insurance companies to repudiate policy liability.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

I understand, acknowledge, agree and consent that

- (a) My insurer, my workshop and the General Insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurer(s) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "Insurers"), the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me;
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.

(collectively the "Purposes")

(b) all insurer(s) who have insured vehicle(s) involved in this accident and the Insurers' law yers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and

park

(c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

car

Policyholder's Signature / Date & Driver's Signature (If driver is not the policyholder) / Date & Time

(Claims Section)
Witnessed by Reporting Centre
Personnel

80k à Sin Ming Road #01-58/60/62 Sin Ming Ind Est Singapore 575643 Tet: 6453 1235 Fax: 6453 7944

Sketch Plan

Pillor SCK6911M

.

00	the	stated	dute	and	fine	,	1	was	drying	along	U	i AW	2
(near	10	rar	park)	, k	Jhen	make		-three	point	tum	1	acciden	HA
Knock	ov	Ho	the	prita									
													_
													_
													_
													_
													and the same
													-
							-						
													_
													_
													-

Declaration

We declare the foregoing particulars are true in every respect.

Policyholder's Signature / Date & Time

Driver's Signature (if order is not the policyholder) / Date & Time

CITY AUTO PTE LTD
Blk 8 Sin Ming Road
#01-56/60/62 Sin Ming Ind Est
Singapore 575643
Tel: 5453 1235 Fax: 5453 7944
(Claims Section)

Witnessed by Reporting Centre Personnel

國際汽車維修

KT MOTORWERK
Blk 3012 Bedok Ind. Park E #01-2020 Singapore 489978.
(Bedok North Ave. 4) Tel: 98287487 Fax: 6448 5177
Email: ktmotorwerk@hotmail.com
Reg. No.: 533734628

DATE: 22.08.2022

TO

: ALLIANZ OD CLAIM

VEHICLE NO

: SCK6911M

MODEL

: TOYOTA HARRIER

DATE OF ACCIDENT : 16.08.2022

TIME OF ACCIDENT

: 1100HRS

CHASSIS

: JTEZB3GH10J001632

CLAIM DETAIL: PARTS

S/N	DESCRIPTION	QTY	ı	INIT LIST PRICE	TO	PRICE	
1	TAILGATE Dented	1	\$	2,398.60	\$	2,398.60	
2	TAIL GATE LAMP RH could	2	\$	895.60	\$	1,791.20	-89
3	TAIL GATE OUTER GARNISH	1	\$	845.20	\$	845.20	
4	TAILGATE LOGO INNER HOLDER XH M	1	\$	135.80	\$	135.80	T.
5	TAILGATE LOGO Hur	1	\$	98.70	\$	98.70	/
6	TAILGATE EMBLEM 'HARRIER' ZARL	1	\$	98.60	\$	98.60	/
7	TAILGATE EMBLEM 'TURRO'	1	\$	95.30	\$	95.30	
8	TAILGATE INNER LOCK WE M	1	\$	945.20	\$	945.20	+.
9	TAILGATE LOCK BOTTOM (OUTER) No a	1	\$	48.90	\$	48.90	+,
	TAILGATE DETECTOR	1	\$	398.70	\$	398.70	7
11	TAILGATE WEATHER STRIP	1	\$	458.90	\$	458.90	7
12	TAILGATE STOPPER He a	2	\$	32.60	\$	65.20	+
13	TAILGATE INNER TRIM (LOWER)	1	\$	703.60	\$	703.60	
14	TAILGATE SIDE SENSOR We av	2	\$	1,045.80	\$	2,091.60	x
15	TAILGATE WINDSCREEN MOULDING 2	1	\$	219.80	\$	219.80	1
16	TAILGATE WINDSCREEN INNERSEAL	1	\$	60.00	\$	60.00	
17	TAIL GATE DAMPER	2	\$	225.60	\$	451.20	+
18	REAR BUMPER (UPPER)	1	\$	1,398.60	\$	1,398.60	1
19	REAR BUMPER (LOWER)	1	\$	496.30	\$	496.30	
20	REAR BUMPER REFLECTOR We w	2	\$	89.60	\$	179.20	X.
21	REAR BUMPER CORNER RETAINER	2	\$	98.20	\$	196.40	
22	REAR BUMPER SIDE RETAINER	2	\$	89.60	\$	179.20	
23	REAR BUMPER SPONGE	1	\$	305.80	\$	305.80	
24	TAIL LAMP Not her	2	\$	895.60	\$	1,791.20	X
25	TAIL LAMP PANEL HE W	2	\$	498.50	\$	997.00	+
26	REAR FENDER INNER COWLING MEN	2	\$	249.80	\$	499.60	+
27	REAR FENDER INNER TRIM MM MM	2	\$	789.30	\$	1,578.60	+
28	REAR FENDER AIR VENT	1	\$	175.30	\$	175.30	+

29 RE	EAR END PANEL	1	\$ 798.40	\$ 798.40
30 RE	EAR END PANEL DAMPER	1	\$ 1,385.90	\$ 1,385.90
31 RE	EAR END PANEL DAMPER BRACKET	2	\$ 275.60	\$ 551.20
32 RE	EAR END PANEL TOP GARNISH	1	\$ 345.80	\$ 345.80
33 RE	EAR FLOOR SIDE PANEL 2M N	2	\$ 499.50	\$ 999.00
34 RE	EAR FLOOR PANEL	1	\$ 987.50	\$ 987.50
35 RE	EAR FLOOR PANEL TOP BOARD(OUTER)	1	\$ 895.70	\$ 895.70
36 RE	EAR FLOOR PANEL TOP BOARD(INNER)	1	\$ 575.80	\$ 575.80
37 RE	EAR FLOOR PANEL SIDE TRAY (INNER)	2	\$ 425.60	\$ 851.20
38 RE	EAR FLOOR PANEL SIDE TRAY (OUTER)	2	\$ 485.70	\$ 971.40
39 RE	EAR FLOOR PANEL BOTTOM SPONGE	- 1	\$ 311.80	\$ 311.80
40 RE	EVERSE SENSOR	4	\$ 397.90	\$ 1,591.60
41 RE	EVERSE SENSOR HOLDERS	4	\$ 56.30	\$ 225.20
42 RE	EVERSE SENSOR WIREHARNESS	1	\$ 987.50	\$ 987.50

TOTAL PRICE \$ 30,181.70 LESS 25% \$ 7,545.43 SUB TOTAL PRICE \$ 22,636.28

S/N	DESCRIPTION	QTY	UNI	T S/NETT	тот	AL S/NETT	
1	REAR NUMBER PLATE NO M	1	\$	50.00	\$	50.00	+
2	REAR BUMPER CLIP (SET)	1	\$	30.00	\$	30.00	-
5	TAILGATE INNER TRIM (LOWER) CLIP (SET)	1	\$	50.00	\$	50.00	7
6	TAILGATE WINDSCREEN SEALANT	1	\$	80.00	\$	80.00	-(
7	TAILGATE WINDSCREEN INNER SHIELD	1	\$	60.00	\$	60.00	3
8	TAILLAMP CLIP (SET)	2	\$	30.00	\$	60.00	-
10	REAR FENDER INNER TRIM CLIP (SET)	2	\$	50.00	\$	100.00	+
11	REAR FENDER INNER COWLING CLIP (SET)	1	\$	50.00	\$	50.00	+
15	REAR END PANEL TOP GARNISH CLIPS (SET)	1	\$	30.00	\$	30.00	
	REAR END PANEL INSULATION SEAL	1	\$	150.00	\$	150.00	2
21	REVERSE CAMERA Me ~	1	\$	550.00	\$	550.00	+

TOTAL \$ 1,210.00

S/N	JOB DESCRIPTION	PRICE	ADJUSTED COST
1	TO PANEL BEAT, REMOVE AND REPLACE PARTS	\$ 1,800.00	600
2	TO SPRAY PAINT AFFECTED AREA	\$ 1,800.00	-600
3	TUFF COAT	\$ 250.00	60
4	WIRING AND BULB CHECK ON TAILAMP	\$ 120,00	3.0
5	REMOVE AND REFIX CUSHION SEAT/UPHOLSTRY & ROOF LINING TO FACILIATE REPAIR	\$ 350,00	4 60
6	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING	\$ 120.00	50.
7	REMOVE AND REFIX REVERSE CAMERA AND DISTANCE SETTING	\$ 120.00	50
8	CONDUCT WATER LEAKAGE TEST	\$ 180.00	X
9	TRANFER TAILGATE MECHANISM	\$ 80.00	
10	REMOVE AND REFIX TAILGATE WINDSCREEN	\$ 120.00	
11	RESET TAILGATE SYSTEM	\$ 250.00	+
12	REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING	\$ 120.00	50
13	TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT/CONTROL UNITS,RESET MEMORIES TO SPECIFICATION ETC.	\$ 380.00	*

5,690.00 TOTAL

23,846.28 TOTAL PARTS COST : \$ TOTAL LABOUR COST: \$ 5,690.00 TOTAL REPAIR COST : \$ 29,536.28

> LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis
- No illegal modification(s) is allowed
- Supplementary item(s) must be resurveyed and is subject to final approval from Insurance Company

Acknowledged by Repairer Signature:

Adrian Lj NS 23/08/22 OSPays Excess; 70 be adviced. Not Authorised.

> Back to OneMotoring

Enquire PARF/COE Rebate for Registered Vehicle

Singapore NRIC						
464G						
4040						
SCK6911M						
No						
23 Aug 2022						
TOYOTA						
HARRIER M GRADE						
Silver						
2018						
8ARZ113667						
JTEZB3GH10J001632						
170.0 kW (227 bhp)						
\$30,808.00						
28 Mar 2018						
28 Mar 2018						
0						
\$35,132.00						
Yes						
27 Mar 2028						
\$26,349.00						
27 Mar 2028						
B - Car above 1600cc or 97kW (130bhp)						
10						
\$37,010.00						
\$20,703.00						

The information contained herein is correct as at 23 Aug 2022

Total Rebate Amount:

\$47,052.00

sgcarmart

Sign up Login

New Cars

Used Cars

Rental Cars

Sell My Car

Directory

Products

Insurance

Articles

Forum

Resources





Toyota Alphard

The ultimate family car! Supreme road presence with space for the whole family and much more.

Post an Advertisement

Sell it yourself! Advertise it at just

\$68 until it's SOLD!

Ways of Selling

Model

VW Golf MK1 Cabriolet



Classic Butterfly

VALUE FOR MONEY VALUE FOR TIME A PEACE OF MIND HOTLINE: 6741 9997

Post an Ad

« Back (1 2) Next »

Sort by Date Posted

results/page 20

22 vehicles



Advanced Search

Harrier

Any Category

Make

Advertiser Login

Depreciation

Reg Date 2018 Eng Cap

Mileage Anv Veh Type Апу Status Available

Search Selection

harrier

Any

Price

Toyota Harrier Turbo 2.0A G

\$108,800

\$16,340 /yr

13-Feb-2018

1,998 cc

Anv

98,000 km

SUV Available

One owner, well maintained, beautiful stock condition, high approval for bank/in house loan available! Trade in are welcome too! Quickly make your appointment with us today!

Posted: 16-Aug-2022



Toyota Harrier Turbo 2.0A Premium

\$115,888

\$16,850 /yr

29-Mar-2018

1,998 cc

62,000 km

Available SUV

Sporty, elegant and practical, this Harrier has all the bells & whistles the modern SUV buyer expects at this price range. Lane departure alert, pre-collision system, cruise radar control and Moonroof among some of the features that come with this car. With a fuel economy.

PREMIUM AD

Posted: 21-Jul-2022



Toyota Harrier 2.0A Premium

\$111,988

\$16,440 /yr

05-Apr-2018

1.986 cc

41,000 km

SUV Available

Graded B by STR

Super Low Mileage! Showroom Condition. \$0 Downpayment/Low Interest Rate/Flexible Loan Scheme With High Approval Rate! High Trade In For Your Used Vehicle. Buy With A Peace Of Mind, STA Evaluation Grade B. SGCM Premium Dealer 2022. Kindly Contact Us For A Non...

PREMIUM AD

Carz World Pte Ltd

Posted: 23-Aug-2022

Posted: 01-Aug-2022



Toyota Harrier Turbo 2.0A M

\$125,800

\$19,250 /vr

06-Apr-2018

1,998 cc

73,000 km

SUV

Available

PREMIUM AD

Interior Ambiance Light, Tesla Style Android Player, Power AMP. Just Too Many Accessories To List! Car In Superb Immaculate Condition. An Added Layer Of Premium Coating Over A Premium Wrap Is Done. 0 Repairs Needed. (Higher Owner Count Due To Number Plate Cha.

Toyota bZ4X slated for local car-sharing

Officially teased at an MoU signing between Borneo Motors SG and SP Group, Toyota's first bespoke BEV will join a sharing fleet for the Tengah estate by 2023.

Find out more!



Toyota Harrier Turbo 2.0A G

\$116,800

\$17,140 /yr

30-Apr-2018

1.998 cc

36,000 km

SUV

Available

Good Buy! Low Mileage! Agent Warranty Till 2023 With 3 Free Servicing! Bank/Full Loan At Lowest Interest Rate Available! Free Interior Detailing And 3 Step Exterior Polishing Worth \$428. Wonderful Condition And Need No Introduction For This Model! No Repair Needed, A.

Posted: 23-Jun-2022



Toyota Harrier Turbo 2.0A M

\$112,800

\$16,560 /yr

23-May-2018

1.998 cc

117,000 km

SIIV

Available

One owner, fully agent serviced. Accident free, Garde M, very good condition like new nice condition. Welcome to view by appointment. Friendly customer service. Bank and in house loan are available.

Posted: 23-Aug-2022

yota Harrier Turbo 2.0A M

\$119,000

\$17,390 /yr

22-Jun-2018

90,900 km

SUV

Available

https://www.sgcarmart.com/used_cars/listing.php?ORD=RGD_ASC&MOD=harrier&RPG=20&VEH=0&RGD=2018&AVL=2